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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE COVERAGE .
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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A consignment of 1000 tons of fertilizers was transported from country Ato 4 each

Country B . Insurance particulars were as under.

Cover : ICC (A), transit by sea and then Road. At the destination
port the cargo was to be bagged and then transported to the
interior. Each bag was supposed to contain 50 kg.

Agreed value: Rs. 2,00,00,000/-

A shortage of 10 tons was reported. The surveyor observed that 3% of the

bags had 51 kg of cargo instead of 50 kg and this too was one cause of

shortage. 1% of the shortage was due to loss of moisture. The balance was
attributed to Theft and Pilferage.

Now answer any three of the following :

a) Work out the value of shortage due to extra filling of bags. Is it payable ?

If so, under what head ? If not, then under which exclusion ?

b) Work out the value of shortage due to moisture loss and state with reasons

whether that will be payable ?

¢) Work out the shortage claim

d) Work out the claim if ICC-B cover would have been given.
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Answer any three of the following : 4 each
a) What are the advantages of having an open cover in Marine Cargo
Insurance? ‘

b) Explain inbrief the principles of insurance applicable to Marine Insurance.
c) List the differences between an open cover and an open policy.
d) What does a multi transit/multiple warehousing policy cover ?
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Answer any three of the following : - 4each
a) Explain the unseaworthiness/unfitness exclusion Clause of ICC-(A). '
b) List the perils covered under ICC- (C)
¢) List the perils covered under Clause 6.1 of ITC Hulls 1.10.1983.
-d) Listthe warranties applicable to duty insurance.
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Answer any two of the following : ‘6each
a)  Explain "Seller's Interest Contingency Insurance".
~ b) Describe the Duty of Assured Clause under I. T, C. Hulls 1.10.1983.
¢) Whatis the cover provided by the Collision Liability Clause under I. T. C.
Hulls 1.10.1983 ?
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Answer any two of the following questions : , 6 each
a)  List out three differences between I'T C Hulls 1.10.1983 and I T C Hulls
20.07.1987 Port Risks .
b) Listout three differences between ICC-(A) and ICC-(B)

©)  Explain the differences between the "duration clause" of ICC-(A) 1982
and ICC-(A) 20009.
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Briefly describe any two of the following :
a) Institute Jute Clause.

b) Institute Container Clause and Time.
¢) Institute Yacht Clauses.

T S A el Wl b e B e FH |
Explain with examples the importance 'of Inco Terms in Marine Insurance.
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Explain the coverages, exclusions and the special conditions under Rejection
Insurance.
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Name the two contemporary policies issued to cover cargo and mention their
salient features.
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Who needs Ship Repairer's Liability Insurance ? Describe the Risks covered
and exclusions under a ship Repairers' Liability Insurance Policy.
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